Math 10 Pre-Calculus & Foundations Name: \41/‘/5/ Blk:
Graphing Relations and Linear Function@

The slope of a line: The equation of a line:
rise Y2 — V1 Slope — Intercept: ¥y = mx + b
m=— m==-—— .
run Xy — Xq Point —Slope: y —y; = m(x — xy)
General: Ax+By+(C =0

Multiple Choice
Identify the choice that best completes the statement or answers the question.

1. Consider the relation represented by this arrow diagram. Represent the relation as a set of ordered pairs.

<Z )lmvﬂk «)

is the number of
people living in

X )
\»\&(JNM+ dL'MV\C\QV\‘t/
{(House P, 1), (House Q, 3), (House R, 4),

{(3, House P), (4, House Q), (1, House R),
{(1, House P), (3, House Q), (4, House R), (5, House S)}

{(House P, 3), (House Q, 4), (House R, 1), (House S, 5)} FJ \ I/\ Z 0 (’)

__ 2. Forthe Iine%—14 =@x+2) ,determinewhi@ parallel
a. 7 b. 2 c. 14 3
1 I-(-3) 1L 7>

3. Determine th@the line that passes through G(3, -3) and H(-5,9). W = z -

a.

House S, 5)}
5, House S)}
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4, Write an equation for fhe graph of a linear function that has slope 3 nd y-intercept —3.
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a. y=tx-77, y=0x+7 c. y=1ix-7 y—11x+l o (\Qc:
S 7

b ®J"’®+11,}’@+6 d y=éx+ﬁ,y=ﬁx+ﬁ (‘Q\‘ﬁs

6. Describe the graph of the linear function with this equation: y+ 3= % (x—2)

a O Q ()
5. Which equations represent perpendicular lines? LQ
P’\ o9 C

The graph is a line through (-2, 3) with slope % _ RN ( ~x - X,
Y

®The graph is a line through (2, —3) with slope l

\
The graph is a line through (2, —3) with slope —l. ) ) - /3 b‘)\\:] -
3 X . > |

& d. The graph is a line through (=2, 3) with slope —%.

7. Determine the x-intercept and the y-intercept for the graph of this equation: 2x— 3y + 36 =10 T D/

a. x-intercept: 18; y-intercept: 12 c. x-intercept: 18; y-intercept: —12
b. x-intercept: —18&; y-intercept: —12 @x—intercept: —18; y-intercept: 12
28 -3nx3, 70 x+3L =2 L
Short Answer ,g\j: -2, Vj"')/ x = 2(0 Y u()

8. Determine the Domain, Range, if a function, & discrete or contmuous of the following:

¢ ﬂA Lo
: y :  hacdiy

. =2
A,Kcr*@

= ot X
G S 7 N .

Domain:/ng/zt’\\oll‘bz . ’lékf‘% 02 '2:[7(}

Domain:

\w})’(((' . & Function: @No Function: YES@ % v:¥ (C\Q Q N/

r Continuous Discrete o@ d’
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9. Consider the relation
a) Complete the table ofwva
b) Plot the ordered pairs on the grid and connect the points with a smooth curve.
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c. Isthe graph Linear or Non-Linear?

NOo N

This graph shows the volume of gas in a car as a function of time. Describe what is happening for

—
a) line segment EF in the graph: \rmn = & g—&o()ﬁJLA wIT VS ﬁ s 1
b) line segment DE in the graph: g \ \ - O lv O\"’\'L

— 1.0 l,/j/ lr\r*

c) find the rate of change (slope) of line segment FG (include units):

Volume of Gas in a Car _ —(O L/ L\r
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11. Refer to the graph below to answer the following: 6 Z - (—"{* > (7
y i)  State the co-ordinates of a points A & B: _ -
— \/'\’Y -9
AFS)) 8-
N
N ii)  Write an equation to describe t, e graph in Point-Slope form.
‘L,* = -
N 549 4oy \mx><> ﬂ{) ,j(x+3)
l.&o
\\J
iv) Change the equation into general form.
—
Q\)\/\ gts,lo" ’X'('Y) — = 0
C/ 3xAiytic
e _ - _ /
Problems S \/‘3 L\O Z 3% \),
e O DU & TN )
12. Determine the equation of the line that has a slope of 3 and passes through poi Write in slope-intercept
form. \O g
Swseely SR - ad ok

Y +“/’ - 3)(
\_/
W = Ix -4
13. Determine thofthe line that passes through A(-1,-5))and B (-3,1)

gil) el N

V\A-“\’"

ﬂk§/7’3(X+( ) 2

14. Determine the General form of the line that passes through A(3,-5) an |.ger deu:uIatO)iL
7

S :@(XJ’B 20410 = St ]
-3 (x-3) /%”‘ e



